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SECTION 1 — CALCULATOR NOT PERMITTED

Candidate name (first, last)
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Candidate enrolment number ~ Date of birth (DDMMYYYY)

5 o e P e

Assessment date (DDMMYYYY) Centre number Candidate signature and declaration*

1 5 5 T O | ]

*I declare that | had no prior knowledge of the questions in this assessment
and that | will not share information about the questions.

Please check that your name is correctly printed on the candidate barcode label.
If not, please tell the invigilator before the start of the exam.

You should have the following for this assessment:
e a pen with black or blue ink
o a pencil (for diagrams, graphs and charts only)
e aneraser
e a 30cm ruler.

You must NOT use a protractor. 3
You must NOT use a calculator for Section 1.

General instructions

¢ Read through each question carefully.

e Write all your answers in this booklet.

e Check your calculations and check that your answers make sense.
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Recommendations

Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions

v' Test your knowledge with
exam-style questions

v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time
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SECTION 1 — CALCULATOR NOT PERMITTED

There are 15 marks available in this section.
You should check all your work as you go along.

You must not use a calculator in this section.

OO0
0
w
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Q1

What is 108 as a fraction of 648? Give your answer in its simplest form.

(1 mark)
Q2
Which one of the following lists is in decreasing order?
(tick one box)
1 17
A s 005 = 015 []
17 1
B 005 = z 0.5 []
1 17
GBS S 006 []
g
D = 2 0.15 0.05 D_
50 5
(1 mark)
3
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Q3 The diagram shows a regular polygon.

\

What is the size of angle B.

X Ye _us®

€

Q4

Work out the value of y if 4y = 144

| bt Y

3 il

Ef
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(1 mark)

714

(1 mark)

wait” 5,00

(1 mark)
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Q6 The radius of the top of this cylinder is 7em

Height i 22
=10cm T=—
l 7
What is the volume of the cylinder?
= L‘ﬁ - 22 Z e
N=TT(C - &= x 3 x\0O \SUO o
F s e
(1 mark)
fi = \S4@ x\0 = \S4«O
ey
8 16
(tick one box) o i B 9. |
28 - RS, S 16
PR
8
L S ~ D
5 —_ C— -—
B i [] \ \
. &
c 1=
16
5
D 2E I:I
(1 mark)
Qs
4,50 + 0,05 =
i s ,‘ 0
= O X O = -k(\ NS R (. -
(1 mark)
5
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Q9

60°

60°

Diagram not to scale

24mm

What is the perimeter of this triangle?

Calls come in randomly.

L +r2Ur 28 = F2 wim

Saate Tt us " g eq\;{\ah’m\ g le

The table shows data for the calls made to the centre.

B i

(1 mark)

Q10 A call centre aims to deal with calls in less than 5 minutes.

Proportion of all calls

Completed in less than 5 minutes

Type of call
Customer complaints 1/4 112
New business 3/4 1/8

minutes.

Give your answer as a fraction in its simplest form.

© The City and Guilds of London Institute 2020

Work out the probability that the next call will be a customer complaint completed within under 5

(1 mark)
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Q11 The government announces that the minimum wage for people over 25 years old will increase
from £8.21 to £8.72 per hour.

A 26 year old woman works 30 hours a week and is paid the minimum wage.

She thinks that the extra money she will earn will cover a rent increase of £20 per week.

Is the woman correct? Show your calculation.

Decision (tick one) yesD no Ij

Calculation
932 ~§-21  =~EO. 3]
oSl X 20 = E\NST B0 % £20

(1 mark)

Q12 A driver sees this speed limit sign in France. The speed is in kilometres per hour.

He is driving at 80 miles per hour. , S
1 kilometre = = mile

He thinks this is below the speed limit.

Is he correct? Explain your answer showing your calculation.

L
Decision (tick one box) yes m/ no D

Explanation

\%Ox% = R\+28S mph 2. 30

(2 marks)
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Q13 A man has a fish tank with the following dimensions:

24c‘ry'

29cm

4L
v

41cm

He needs to know approximate volume of the tank.

What is its approximate volume?

24X k! x 29 50000 e

(2 marks)

\Volume =
o~ 2S5 XxkDxD0 ' = BoOson

End of Section 1
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Level 2 Functional Skills Mathematics 1 8&
SAMPLE PAPER 2 ngilds

A City & Guilds Group Business

Duration: 1 hour 20 minutes Version 1.1

Total marks: 45 marks

SECTION 2 - CALCULATOR PERMITTED

Candidate name (first, last)

rstle T el SR P e
5. 0 O 1 O 0 5 O 5 2 P O O D S

Candidate enrolment number Date of birth (DDMMYYYY)

EENAEED S R R

Assessment date (DDMMYYYY) Centre number Candidate signature and declaration®

EEERNEERyEEREREEE |

* If you have used any additional answer sheets write the number of additional sheets in this box. D
* Please ensure that you staple additional answer sheets to the back of this

booklet, clearly labelling them with your full name, enrolment number, centre number

and date in BLOCK CAPITALS.

* You must use a black or blue pen. You may use a pencil for charts and diagrams.

*I declare that | had no prior knowledge of the questions in this assessment

and that | will not share information about the questions.

Please check that your name is correctly printed on the candidate barcode label. If
not, please tell the invigilator before the start of the exam.

You should have the following for this assessment
e a calculator

e a pen with black or blue ink

s a pencil (for diagrams, graphs and charts only)
e an eraser

e a30cm ruler.

You must NOT use a protractor.

General instructions

e Read through each question carefully.

Show your working out (where required).

Write all your working out and answers in this booklet.
Check your calculations and check that your answers make sense.

There are additional pages including graph paper at the back of this booklet if you
run out of space or ask the invigilator if you need additional sheets of paper.

+ © The City and Guilds of London Institute 2020
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SECTION 2 - CALCULATOR PERMITTED
There are 45 marks in this section.
You should check all your work as you go along.

You may use a calculator.

OO0
o

DOOC
()
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Q1

0.06 million + 6.2 thousand =

Give your answer to two decimal places

968 q-68

(1

OO =~ 6200

(1 mark)
Q2
What is 83—7 as a decimal correct to three decimal places?
Bkl = O .05k O*0=>H
(1 mark)

Q3 The diagram shows the outline of a building.

front

A B C D

Which one of the above shows the elevation of the left side of the building?

(tick one box)

]

B[]
D [—_—I (1 mark)

11
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Q4
1m?is the same as
(tick one box)
A 100 cm? [
B 1000 cm? =
C 100000 cm?® D
D 1000000 cm?® Iz/
(1 mark)
Q5 A social club sells 50 pink raffle tickets and 75 yellow raffle tickets.
Tickets are drawn randomly.
What is the probability that the first ticket drawn will be a pink ticket?
Give your answer as a decimal.
5B, o el
SO ¥ TS5 O . L‘»
(1 mark)
12
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Q6 The chart shows finishing times of marathon runners.

100

80
A

80

Number of finishers (thousands)

43 500 5% 700
Finishing times (hours) '

200 230 300 3:30 4:00

A report states that most of the runners finished in under 4 hours.

Is the report correct?

Explain your decision.

/
Decision (tick one box) Yes D No |j

Explanation
Thwe n‘g\r\\r V\O«V\J Svde e \ox’%@f
Vs one TBEE = kb sleeureol

o Ywe l\eft

(1 mark)
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Q7 A shop has a sale.
There is 30% off all black tag items.

30% OFF

Reduced price

£21

One day this notice appears in the shop.

One day only -
BLACK TAG
An extra 25% off marked reduced price

BETTER THAN HALF PRICE!

A customer complains that the notice is misleading because it is not true.

Is the customer correct?

Explain your decision. Include calculations to support your decision.

y4

Decision (tick one box) Yes BrNo I:]

Show all your working ) \ X0 45, B E\ T X -g
New pnce 1 7 5 e
MalF prte fomodgin! pace TE BT

(onginal = 21 207 =E3e

Explanation and supporting calculations. .

A - \\\LL.{ = [H) et v
\ b { ~ C© S W noh & S ot
I7 v I
(Ve \ Cuslomnl > (\w\‘\‘
(3 marks)
14
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Q8 A craftsman uses resin to make a paperweight.

He makes the paper weight from two parts, a hemisphere and a cylinder.
He uses this plan.

2

V=cnr?
3
/ V= volume of hemisphere in cm?

r = radius of hemisphere in cm

=3.14
5cm \ k

3cm

—
6cm

How much resin does he need for both parts?

Show all your working = TS Evn

Hew\\sEhw
% e g % ..
=il . 5 (% = 6-SU
V= ST X o

Cp\\(f\(?l@/\/_

& T S o 0 BB o R
\]:TYX3/LXS” kST =

6-SUK + b -3F
e s 66 Sl ¢4 (2dp) Amount of resin | e by \'»cm3

(4 marks)

© The City and Guilds of London Institute 2020




PassFunctionalSkills.co.uk

Q9 A gardener wants to build this greenhouse in the top right hand corner of her garden.

/; ATRTR

o LSS

This is a sketch plan of her garden.

‘/Z.'Sm

en IWOUJ('
55”‘) e
/ here
‘,/ e

ot 5+5m
R
2°5m

She will leave a 50cm space between the greenhouse and the edge of the garden.

She wants a scaled plan of the garden showing the position of the greenhouse.

Draw a scale plan. Put the scale you use on the plan.

| L lew |
| T f ‘
| | |
3 F T
; | Tl e
1 ' . { |
L O ey ey H
* Li|Cim | ST
({7(,;/\/\ ACCE PYOAPKE
! I [ SCuwn
{ | |
HEH F e T TR En
b e |
: pYet l
Soale |3 5O | T
J ‘ ; ; S

16
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There is spare graph paper on page 23

© The City and Guilds of London Institute 2020
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Q10 A student wants to raise £100 for charity.

He will sell hot dogs at a disco. The Supermarket
He will make 150 hot dogs. Hot dog sausages tin of 8  50p
He buys ingredients at The Supermarket Hot dog buns packetof 6  90p

If he sells all the hot dogs, what is the minimum price he must charge to make a profit of £100?

Show all your working
SC acg

- -

2 Va2 .S A
&N f

\SO-=% = & 2SS = 19 +HinS V\eeo)eJ
1S026 = 25 packers needed

£A SO
£ 22 S0

A% 6480 =
2SS X090

CoStfo wake hot- A0gs = q-$0 +22-50 = £32

Minimum price per hot dog 8% 4

B2 2 A0 = EOEE RS DY
ot A0A R Selh at
18
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Q11 A supermarket buyer compares large eggs from two suppliers.

She wants to buy the largest eggs.

The table shows the masses of a sample of large eggs from Supplier A.

Weights of large eggs (Supplier A) A L:
Weight in grams | Number of eggs | ' " r m A :
63<g<65 22 €U N—KCS;)
65<g< 67 27 €& \F8 =
67<g< 69 26 ¢ 8 | +68
69<g< 71 15 3-0 \C??
71<g< 73 10 4 2 320
\CO 6F28

A similar sample taken from supplier B gives a mean value of 66.59

Which supplier should the buyer use?
Explain your decision.

7
Decision (tick one box) Supplier A lj Supplier B D

Show all your working ) <
g 2% E VI -2 q
S L MR )

SupplieS A meoawn
10O

Explanation and supporting calculations.
e T
Siipplpf . L RS En e h
Lo AN oge )

so e buwes S\/\ou‘kJ vde Sup‘o\\\gf A

(4 marks)

19
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Q12 A man has £5000.

He will put his money into a savings account at a bank.

He wants to save it for one year.

Bank A pays 2% compound interest. It adds interest every 6 months.

Bank B pays 3.15% annual interest rate.

Which bank should the man choose?

Explain your decision. Include calculations to support your decision.

Decision (tick one box) Bank Am

Show all your working

Gonle Ao

Bawk &5 SOOOX

Explanation and supporting calculations.

L SIS

%,-«-—; “‘7

SO0 X \'OZ
105 LS

Bank B D

| L

1

.S O

£ s202
ol o

\C |

© The City and Guilds of London Institute 2020
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Q13 A magazine article has this headline.

Garden birds in decline

Fewer birds seen in our gardens

An environmental organisation records information about bird populations.

The graph shows some data about two types of garden birds.

Data from garden bird survey

1

Average number of birds seen
w I

0 T T
2008 2010 2012 2014 2016 2018

Year

® chaffinch X sparrow

Is the magazine headline correct?

Show suitable calculations of percentage changes for the last ten years and draw trend lines
on the graph to support your answer.

Explain your answer and make two comments.

Show all your working °/ : 3
S PO WU . .’lfj o/ ol o OoLse

Comment1 TV vvw\ga zhe nead\Woe IS ccwwi
Twe wemt o OC— gmmwsm& nod really
C)/\O\\/\%_QQ

U/V\WC‘G claccfhaene S ‘/\(AS O&C/\/\Qm&ed

Comment 2

e W

On o oe , WAL (s o gdleovieodR In birds

21
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(5 marks)
Q14 Ateam manager wants to pick four people for a bowling competition.

She decides to pick players with consistently good average (median) scoring performances.

She picks the following three people.

Player Average score (median) Range of scores
over last eight matches over last eight matches
Archie 105 26
Baz 101 37
Cathy 99 32

She needs one more player to make up the team.
She look at the scores of two more players.

Scores in last eight matches
Dave Elaine
78 87
48 98
102 101
98 84
86 93
101 79
67 87
96 97

Make suitable calculations for Dave and Elaine.
Decide which player best fits the requirements. Explain your decision using figures.

z

Player picked (tick one box) DaveD EIaine ElOWME IS+
ho P&~ CWoiC=

Explanation and supporting calculations
et SVIE TS

ba 6+Ql q\ et
‘ - gor\s = MOV CON S >Fon i
on = :
Meol = - inplg
~ = o AR =
Covge = \OZ € A b e

PEl A e e Score +S Simdar
plectimt 3 = fo Dawve

Rovye = WO = T =00

22
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(5 marks)
Q15 A fisherman sets off from Dunsey in a boat.

His boat will travel at an average speed of 5 kilometres per hour.

He has this map so that he can avoid the rocks.

A B C D E F G H I J K L M N
SRR R HLHH } ‘
i ! 5 !
) ! | |
®
® SEA
M I
N~
®
©
|| Basmakanesk
ol 4
®
<!
®
H
Dunsey° LAND
o
®
P
®

He needs to meet up with a ship at coordinate L34 at 5pm

He needs to know at what time he must leave Dunsey.

At what time must he leave Dunsey?

Show all your working.

Tovel destance = 2248+ 2-2
= 15 i sqUaRs (Cew)

= AB=H A ZSO08 = B33000
! = 38000 + 00000

= 2-2F% Pm

- - 0% howd
Time = d\*s\—omce—rspeaglz BomST B 6c
06F honws = kO:ZwmAS Time to leave Dunsey Lee 19
e A o need s to LTS TR S T
Gt d
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Spare graph paper for Question 9

© The City and Guilds of London Institute 2020
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Extra space for working out and answers

End of section 2

© The City and Guilds of London Institute 2020
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